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Chapter 1 General Chemistry Review - Part 2

Add 1n any missing formal charges on the following Lewis structure

1 (all electrons are shown). What 1s the NET (overall) charge?
#.{I:I)‘o : bl"H
.0 —C—CHy—CH—CH;—NH3
Identify the type of bonding present
(covalent, 1onic, or both).
2 H,SOy
3 CH3COs5Li

Draw a complete Lewis structure for each:

4| NaCN

NH4OCH: 2
//J\OH

Number of p1 bonds

Number of sigma bonds
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21 Identify the hybridization for each of the following indicated atoms.

@

Describe the hybridization and geometry -
a) linear
about the bolded atom for each. 1) sp b) bent
2) sp” ¢) tetrahedral
3 d) trigonal planar
3 g
CH 3" H 2 )P e) pyramidal

CH;OH

CH3OCH3

CH3CCH

9 | Provide a 3D sketch of the given compound.

CH3CH,CH,CH,CH,0H



Add in any missing formal charges on the following Lewis structure
(all electrons are shown). What 1s the NET (overall) charge?

L] - LI A}ﬂ
el : OH
- ® " | E)+1
. O—C—CHy—CH—CH,—NHj
) C)+2
D)-1
E) -2

The following has what type(s) of bonding?

H2SO4

A) 1onic bonding only
B) covalent bonding only
C) both 1onic and covalent bonding

D) none of the above



The following has what type(s) of bonding?

CH3COaLi

A 1omie bonding only
B) covalent bonding only

C) both 10nic and covalent bonding

D) none of the above

Which of the following represents the correct
Lewsis structure of sodium cyanide, NaCN?

A) Na—C=N

B) Na—C=N:

w @
C) Na:C=N:



NH4OCHj

Which of the following represents the correct
Lewis structure of the given condensed formula?

A H ’
l® ©O. I
H—N=—H :0-C—H
* ﬁ N
H@rxll—g—clz—H
B) H ’ H © H
J® O, |
H=N=H 0-C—H
. H
E) H H
"SN—G-C—H
©) e H HO1 =
H—N=H e'o—tI:—H "
. H

The following compound contains how many
p1 bonds, and how many sigma bonds?

0
/J\OH

A) 1 m bond A) 3 ¢ bonds

B) 2 m bonds
C) 3 m bonds
D) 4 7 bonds

E) 5  bonds

B) 4 ¢ bonds
C) 5 ¢ bonds
D) 6 ¢ bonds

E) 7 o bonds



Identify the hybridization for each of the following indicated atoms.

)\’X/ H_i_H CH 23':-:: H,
@
A sp’ sp sp
B)  sp’ sp’ sp
C) sp3 sp SP2
D) sp’ sp’ sp*
E)  sp’ sp? sp?

Which of the following 1s an accurate 3-D representation
of the given compound?  cH;CH,CH,CH>CH,OH

A) v HH HH 7 B) H HH
C—C-C—C—C-0, H. G &
s L N N ¥
HH HAH  HA M ¢ e’ e H
HH HH HH
C ~oi= D
)HH\H? )HHHHH”
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A >er H—C—C—-C—-C—-C-O—H
¢ HH b A A A A
< “‘H

E) None of the above.





